








Risultati esercizio 4
X Y X-X medio Y-Y medio (X-X medio)^2 (X-Xmedio)(Y-Ymedio)

2.5 -106 -2.5 75 6.25 -187.5
6 -251 1 -70 1 -70
3 -119 -2 62 4 -124

4.5 -144 -0.5 37 0.25 -18.5
5.5 -152 0.5 29 0.25 14.5

7 -224 2 -43 4 -86
6.5 -271 1.5 -90 2.25 -135

somma 35 -1267 18 -606.5
media 5 -181 varianza X 2.57 covarianza -86.64

alpha beta
-33.694 -12.5278

-33.69444 -12.5278

Valore test 4.97 -180

mediana Y -152

varianza 
campionaria Y

4421.333

-106

-251

-119
-144 -152

-224

-271

-180

y = -33.694x - 12.528

-300

-250

-200

-150

-100

-50

0
0 1 2 3 4 5 6 7 8

INSULINA - DIFF. GLICEMIA


